Name: Date:

Teacher: Class:

Comparing Decimals 506

Why was the Tomato blushing? Because he saw the salad
dressing.

Use < (less than), > (Greater than) or = (equals) signs
to make each statement TRUE.
Example: 10.2 2.1 10.2>2.1

L 24 47 11. 0.30__ 0.54 21. 0.66__ 0.53
2. 1.6 0.10 12. 034 9.6 22. 7.7 0.44
319 75 13. 6.5 0.63 23. 62 0.94
4. 0.82_ 35 14. 0.78__ 0.79 24. 034 3.1
5. 6.3__ 8.4 15. 0.38__ 3.3 5. 1.2 0.48
6. 45 7.4 16. 0.47 5.0 2. 6.8 6.1

7. 0.63__ 3.8 17. 48 9.0 27. 0.80 1.3
8. 0.69 4.3 18. 9.8 0.75 28. 0.31__ 0.58
9. 041 9.4 19. 77 1.6 20. 0.71__ 0.54
10. 6.6  0.43 20. 91 84 0. 29 0.42
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Answer Key Date:

Teacher: Class:

Comparing Decimals 506

Why was the Tomato blushing? Because he saw the salad
dressing.

Use < (less than), > (Greater than) or = (equals) signs
to make each statement TRUE.
Example: 10.2 2.1 10.2>2.1

0.30 < 0.54 21. 0.66 > 0.53
0.34 < 9.6 22. 7.7 > 0.44
6.5 > 0.63 23. 6.2 > 0.94
0.78 < 0.79 24. 0.34 < 3.1
0.38 < 3.3 25. 1.2 > 0.48
0.47 < 5.0 2. 6.8 > 6.1

4.8 < 9.0 27. 0.80 < 1.3
9.8 > 0.75 28. 0.31 < 0.58
7.7 > 16 20. 0.71 > 0.54
9.1 > 84 30. 2.9 > 0.42
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Score:



